[image: image1.png]65 This is not a redox reaction since there is no change in oxidation number.
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205 +320 - 2Cr = 3207




[image: image3.png]630 The sum of the oxidation mumbers should be equal to the total, or overall charge on the oz
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[image: image4.png]634 The sum of the oxidation mumbers should be equal to the tota charge.
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[image: image5.png]638 Nis reduced Som +4 to 2 and N is oxidized fom +4 to +5.




[image: image6.png]644 ()  (Sn=2H.0-Su0:+4H +4e)x3
(NO; +4H =3¢ 5 NO = 2H,0) x4
350+ 4NO + 16H = 6H:0 — 35u0; + JH = 4NO + 8H:0
which simplifis to
350+ 4NOs™+ 4H" — 35n0: + 4NO + 2E:0
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INH,0H = N,0 + H:0 = 6H' + 4~
INE,OH" — 4F¢™ + N.0 + 6~ H,0





